BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE EARTHWORK IMPROVEMENTS FOR MABREY MEADOWS, PHASES 1A AND 1B KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF TALTY E.T.J., KAUFMAN COUNTY, TEXAS

SEPTEMBER 26, 2024 LJA ENGINEERING, INC.

S.BOOTH SEPTEMBER 26, 2024 NTD307A-0061

	BIDDER'S NAME	TOTAL AMOUNT BID	CALENDAR DAYS	CONTRACTOR'S SCHEDULE	
1) HAMMETT EXCAVATION	INC.	\$1,247,351.14	55/17	OCTOBER 28, 2024	
2) FCS CONSTRUCTION, L	P	\$1,413,086.70	120/20	NOT PROVIDED	
3) HARD ROCK EXCAVATION	ON	\$1,653,654.10	90/25	NOVEMBER 25, 2024	
4) MARIO SINACOLA & SOI	NS EXCAVATING, INC.	\$1,698,411.00	100/20	OCTOBER 7, 2024	
5) BELAIR SITEWORK SER	VICES	\$2,295,209.06	115/130	NOT PROVIDED	

Edgar Saucedo

I, Edgar Saucedo, P.E., hereby certify these bid tabulations to be true and correct.

EDGAR SAUCEDO

125603

CENSE
ONAL ENO

9.26.2024

Edgar Saucedo

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE EARTHWORK IMPROVEMENTS FOR MABREY MEADOWS, PHASES 1A AND 1B KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF TALTY E.T.J., KAUFMAN COUNTY, TEXAS SECTEMBED 26 2024

SEPTEMBER 26, 2024 LJA ENGINEERING, INC. S.BOOTH SEPTEMBER 26, 2024

NTD307A-0061

1) HAMMETT EXCAVATION INC.

2) FCS CONSTRUCTION, LP 3) HARD ROCK EXCAVATION

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	◆ UNIT COST	TOTAL COST
SECTION A - EARTHWORK ITEMS:								V	
STABILIZED CONTRUCTION EN SITE PREPARATION UNCLASSIFIED EXCAVATION ROUGH LOT GRADING FINAL LOT GRADING (PHASE 1A FINAL LOT GRADING (PHASE 1E MIL THICKNESS VAPOR BARR	LOTS) LOTS) IER JS - 8' DEPTH NOTE: MOISTURE CONDITIONING TO	LS AC CY EA EA EA EA	1 54.5 54528 299 161 138 299 299	\$2,755.00 \$342.21 \$3.14 \$450.00 \$160.00 \$160.00 \$340.00	\$2,755.00 \$18,650.45 \$171,217.92 \$134,550.00 \$25,760.00 \$22,080.00 \$101,660.00 \$598,000.00	\$3,000.00 \$575.00 \$2,65 \$110.00 \$275.00 \$275.00 \$375.00 \$2,950.00	\$3,000.00 \$31,337.50 \$144,499.20 \$32,890.00 \$44,275.00 \$37,950.00 \$112,125.00 \$882,050.00	\$3,000.00 \$1,135.00 \$3.45 \$300.00 \$200.00 \$200.00 \$400.00 \$3,000.00	\$3,000.00 \$61,857.50 \$188,121.60 \$89,700.00 \$32,200.00 \$27,600.00 \$119,600.00 \$897,000.00
9 EMBANKMENT (PLACE SPOILS 10 TEMPORARY SEDIMENTATION I OUTFALL PIPE)	UTILITIES) POND A (INCLUDES: GRADING, SKIMMER, AND PVC	CY LS	9000 1	\$3.20 \$21,000.00	\$28,800.00 \$21,000.00	\$3.40 \$27,500.00	\$30,600.00 \$27,500.00	\$4.00 \$59,745.00	\$36,000.00 \$59,745.00
	POND B (INCLUDES: GRADING, SKIMMER, AND PVC	LS	1	\$10,260.00	\$10,260.00	\$9,500.00	\$9,500.00	\$17,395.00	\$17,395.00
12 TEMPORARY SEDIMENTATION	POND C (INCLUDES: GRADING, SKIMMER, AND PVC	LS	1	\$8,200.00	\$8,200.00	\$7,000.00	\$7,000.00	\$13,375.00	\$13,375.00
OUTFALL PIPE) 13 TEMPORARY SEDIMENTATION OUTFALL PIPE)	POND D (INCLUDES: GRADING, SKIMMER, AND PVC	LS	1	\$5,250.00	\$5,250.00	\$6,000.00	\$6,000.00	\$9,545.00	\$9,545.00
	ND A (INCLUDES: REMOVAL OF SKIMMER &	LS	1	\$3,000.00	\$3,000.00	\$750.00	\$750.00	\$26,600.00	\$26,600.00
15 BACKFILL SEDIMENTATION POR	ND B (INCLUDES: REMOVAL OF SKIMMER &	LS	1	\$2,750.00	\$2,750.00	\$750.00	\$750.00	\$7,085.00	\$7,085.00
	ND C (INCLUDES: REMOVAL OF SKIMMER &	LS	1	\$2,750.00	\$2,750.00	\$750.00	\$750.00	\$4,275.00	\$4,275.00
OUTFALL PIPE) 17 BACKFILL SEDIMENTATION PON OUTFALL PIPE)	ND D (INCLUDES: REMOVAL OF SKIMMER &	LS	1	\$2,758.00	\$2,758.00	\$750.00	\$750.00	\$4,535.00	\$4,535.00
SECTION A - EARTHWORK ITEMS: SU				\$1,159,441.37		\$1,371,726.70		\$1,597,634.10	
SECTION B - TXDOT ITEMS:									
1 SITE PREPARATION 2 UNCLASSIFIED EXCAVATION		AC CY	1. 7 977	\$251.32 \$2.89	\$427.24 \$2,823.53	\$1,750.00 \$5.00	\$2,975.00 \$4,885.00	\$3,500.00 \$10.00	\$5,950.00 \$9,770.00
SECTION B - TXDOT ITEMS: SUBTOTA	L:			\	\$3,250.77		\$7,860.00		\$15,720.00
SECTION C - MISCELLANEOUS ITEMS	:			•					
1 MOBILIZATION 2 PERFORMANCE AND PAYMENT	BONDS FOR 100% OF CONTRACT AMOUNT	LS LS		\$66,250.00 \$18,409.00	\$66,250.00 \$18,409.00	\$15,000.00 \$18,500.00	\$15,000.00 \$18,500.00	\$15,800.00 \$24,500.00	\$15,800.00 \$24,500.00
SECTION C - MISCELLANEOUS ITEMS	: SUBTOTAL:		3		\$84,659.00		\$33,500.00		\$40,300.00
ALTERNATE I - EARTHWORK ITEMS:									
1 MOISTURE CONDITIONING PAD BE DONE FOR ENTIRE PAD PLU	S - 5' DEPTH NOTE: MOISTURE CONDITIONING TO S 5' OUTSIDE PAD LIMITS.	EA	299	\$1,403.00	\$419,497.00	\$1,700.00	\$508,300.00	\$1,960.00	\$586,040.00
2 MOISTURE CONDITIONING PAD TO BE DONE FOR ENTIRE PAD	S - 10' DEPTH NOTE: MOISTURE CONDITIONING PLUS 5' OUTSIDE PAD LIMITS.	EA	299	\$2,798.00	\$836,602.00	\$3,775.00	\$1,128,725.00	\$4,075.00	\$1,218,425.00
ALTERNATE I - EARTHWORK ITEMS:	SUBTOTAL:				\$1,256,099.00		\$1,637,025.00		\$1,804,465.00
ALTERNATE II - GRADING ITEMS:	\ Y								
1 HAUL OFF STREET EXCAVATION	N The state of the	CY	25476	\$26.00	\$662,376.00	\$35.00	\$891,660.00	\$25.00	\$636,900.00
ALTERNATE II - GRADING ITEMS: SUE	STOTAL:				\$662,376.00		\$891,660.00		\$636,900.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE EARTHWORK IMPROVEMENTS FOR MABREY MEADOWS, PHASES 1A AND 1B KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF TALTY E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 26, 2024 LJA ENGINEERING, INC. S.BOOTH SEPTEMBER 26, 2024

				1) HAMMETT EX	KCAVATION INC.	2) FCS CONSTRUCTION, LP		3) HARD ROCK EXCAVATION	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	♦ UNIT COST	TOTAL COST
BIDDING SUMMARY									
SUBTOTAL SECTION A	- EARTHWORK ITEMS:				\$1,159,441.37		\$1,371,726.70		\$1,597,634.10
SUBTOTAL SECTION B - TXDOT ITEMS:					\$3,250.77		\$7,860.00		\$15,720.00
SUBTOTAL SECTION C - MISCELLANEOUS ITEMS:					\$84,659.00	`	\$33,500.00		\$40,300.00
TOTAL AMOUNT BASE	BID				\$1,247,351.14		\$1,413,086.70		\$1,653,654.10
ALTERNATE ITEMS: SUBTOTAL ALTERNATE SUBTOTAL ALTERNATE	E I - EARTHWORK ITEMS: E II - GRADING ITEMS:				\$1,256,099.00 \$662,376.00	CA	\$1,637,025.00 \$891,660.00		\$1,804,465.00 \$636,900.00

NTD307A-0061

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE EARTHWORK IMPROVEMENTS FOR MABREY MEADOWS, PHASES 1A AND 1B KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF TALTY E.T.J., KAUFMAN COUNTY, TEXAS

SEPTEMBER 26, 2024 LJA ENGINEERING, INC.

S.BOOTH

SEPTEMBER 26, 2024

NTD307A-0061

4) MARIO SINACOLA & SONS EXCAVATING, INC. 5) BELAIR SITEWORK SERVICES

ITEM	DESCRIPTION	LINUT	OTV	LINIT COST	TOTAL COST	LINIT COOT	TOTAL COOT
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	A - EARTHWORK ITEMS:						
	BILIZED CONTRUCTION ENTRANCE : PREPARATION	LS AC	1 54.5	\$3,000.00 \$1,100.00	\$3,000.00 \$59.950.00	\$4,635.00	\$4,635.00 \$74,603.41
	EREPARATION ELASSIFIED EXCAVATION	CY	54.5	\$1,100.00	\$245,376.00	\$1,368.87 \$4.16	\$226.836.48
	IGH LOT GRADING	EA	299	\$400.00	\$119,600.00	\$293.58	\$87,780.42
	AL LOT GRADING (PHASE 1A LOTS)	EA	161	\$200.00	\$32,200.00	\$329.02	\$52,972.22
	AL LOT GRADING (PHASE 1B LOTS)	EA	138	\$200.00	\$27,600.00	\$329.02	\$45,404.76
	L THICKNESS VAPOR BARRIER	EA	299	\$550.00	\$164,450.00	\$640.64	\$191,551.36
	STURE CONDITIONING PADS - 8' DEPTH NOTE: MOISTURE CONDITIONING TO	EA	299	\$2,675.00	\$799,825.00	\$4,609.78	\$1,378,324.22
BE D	OONE FOR ENTIRE PAD PLUS 5' OUTSIDE PAD LIMITS.						
g FMR	ANKMENT (PLACE SPOILS UTILITIES)	CY	9000	\$2.50	\$22,500.00	\$4.63	\$41,670.00
	PORARY SEDIMENTATION POND A (INCLUDES: GRADING, SKIMMER, AND PVC	LS	1	\$38,000.00	\$38,000.00	\$18,314.00	\$18,314.00
	FALL PIPE)		•	φου,σου.σο	ψου,σσσ.σσ	V10,01.00	ψ10,011.00
	PORARY SEDIMENTATION POND B (INCLUDES: GRADING, SKIMMER, AND PVC	LS	1	\$12,000.00	\$12,000.00	\$21,432.00	\$21,432.00
	FALL PIPE)						
	PORARY SEDIMENTATION POND C (INCLUDES: GRADING, SKIMMER, AND PVC	LS	1	\$12,000.00	\$12,000.00	\$10,964.00	\$10,964.00
	FALL PIPE) PORARY SEDIMENTATION POND D (INCLUDES: GRADING, SKIMMER, AND PVC	LS	1	00,000	\$8,000.00	\$12,401.00	¢12.401.00
	FALL PIPE)	LO	'	\$8,000.00	\$6,000.00	\$12,401.00	\$12,401.00
	KFILL SEDIMENTATION POND A (INCLUDES: REMOVAL OF SKIMMER &	LS	1	\$30,000.00	\$30,000,00	\$11,574.00	\$11,574.00
	FALL PIPE)		•	\$00,000.00	100,000.00	ψ11,011.00	ψ11,07 1.00
15 BAC	KFILL SEDIMENTATION POND B (INCLUDES: REMOVAL OF SKIMMER &	LS	1	\$10,000.00	\$10,000.00	\$5,466.00	\$5,466.00
	FALL PIPE)						
	KFILL SEDIMENTATION POND C (INCLUDES: REMOVAL OF SKIMMER &	LS	1	\$10,000.00	\$10,000.00	\$2,219.00	\$2,219.00
	FALL PIPE)	LS		\$8,500.00	\$8,500.00	¢0.070.00	¢0.070.00
	KFILL SEDIMENTATION POND D (INCLUDES: REMOVAL OF SKIMMER & FALL PIPE)	LO	'	\$6,500.00	\$0,500.00	\$2,276.00	\$2,276.00

SECTION A	A - EARTHWORK ITEMS: SUBTOTAL:				\$1,603,001.00		\$2,188,423.87
SECTION E	B - TXDOT ITEMS:						
1 SITE	PREPARATION	AC	1.7	\$1,100.00	\$1,870.00	\$951.90	\$1,618.23
2 UNC	LASSIFIED EXCAVATION	CY	977	\$20.00	\$19,540.00	\$4.48	\$4,376.96
SECTION E	B - TXDOT ITEMS: SUBTOTAL:				\$21,410.00		\$5,995.19
SECTION (C - MISCELLANEOUS ITEMS:						

	BILIZATION FORMANCE AND PAYMENT BONDS FOR 100% OF CONTRACT AMOUNT	LS LS		\$60,000.00 \$14,000.00	\$60,000.00 \$14,000.00	\$74,600.00 \$26,190.00	\$74,600.00 \$26,190.00
		LO		\$14,000.00		\$20,190.00	
SECTION (C - MISCELLANEOUS ITEMS: SUBTOTAL:				\$74,000.00		\$100,790.00
ALTERNA	TE I - EARTHWORK ITEMS:						
1 MOIS	STURE CONDITIONING PADS - 5' DEPTH NOTE: MOISTURE CONDITIONING TO	EA	299	\$1,530.00	\$457,470.00	\$2,347.00	\$701,753.00
	ONE FOR ENTIRE PAD PLUS 5' OUTSIDE PAD LIMITS.		200	ψ1,000.00	Ų 101, 11 0.00	Ψ2,011.00	ψ. σ. ι _ι . σσ. σσ
	STURE CONDITIONING PADS - 10' DEPTH NOTE: MOISTURE CONDITIONING	EA	299	\$3,565.00	\$1,065,935.00	\$0.01	\$2.99
TO E	BE DONE FOR ENTIRE PAD PLUS 5' OUTSIDE PAD LIMITS.						
ALTERNAT	TE I - EARTHWORK ITEMS: SUBTOTAL:				\$1,523,405.00		\$701,755.99
ALTERNA	TE II - GRADING ITEMS:						
1 HAU	L OFF STREET EXCAVATION	CY	25476	\$35.00	\$891,660.00	\$11.39	\$290,171.64
	TE II - GRADING ITEMS: SUBTOTAL:			• • • • •	\$891,660.00	,	\$290,171.64
ALIERNA	IE II - GRADING HEIRO, GODTOTAE.				\$00 i,000.00		φ£30,171.04

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE EARTHWORK IMPROVEMENTS FOR MABREY MEADOWS, PHASES 1A AND 1B KAUFMAN COUNTY FRESH WATER SUPPLY DISTRICT NO. 7A CITY OF TALTY E.T.J., KAUFMAN COUNTY, TEXAS SEPTEMBER 26, 2024 LJA ENGINEERING, INC. S.BOOTH

SEPTEMBER 26, 2024 NTD307A-0061

4) MARIO SINACOLA & SONS EXCAVATING,	5) BELAIR STEWORK SERVICE
INC.	

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BIDDING SUMMARY							
SUBTOTAL SECTION A - EA	ARTHWORK ITEMS:				\$1,603,001.00		\$2,188,423.87
SUBTOTAL SECTION B - TX	KDOT ITEMS:				\$21,410.00		\$5,995.19
SUBTOTAL SECTION C - MI	ISCELLANEOUS ITEMS:				\$74,000.00		\$100,790.00
TOTAL AMOUNT BASE BID					\$1,698,411.00		\$2,295,209.06
ALTERNATE ITEMS: SUBTOTAL ALTERNATE I - SUBTOTAL ALTERNATE II -					\$1,523,405.00 \$891,660.00		\$701,755.99 \$290,171.64

FRN F-1386 Page 5 of 5 LJA Engineering, Inc.